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BRIRA 2% g B | H9%=E & &
TEFTHRE | KR
BRKEMKZT HPPE(EFZ Ot A2 EE) L=5.00m $ 150 V. 56 |280m
@ 150(P) HPPE (E%) L=5.00m ¢ 150 P 6 |30m7n 5% (5%0m)
EFfISZEAUR $150x22° 1/2| 1@ 1
EFZF—X @ 150% P75 & 2
EFR%L7T1—% @ 75% @50 & 2
EFZF—X ¢150% 150 | 1A 1
EFR%L7T1—% ¢150x 100 | 1A 1
ANEEE (P) ¢ 150 x 45° & 2
PVUIALUk @ 150(P)x ¢ 150(V)| & 1
IS AEHER  [HPPE(EFROfTHZES) L=5.00m ¢ 100 S 115m
¢ 100(P—V) HiVP  L=4.00m @100 P 1]2m
ANEHE (P-VER ¢ 100 x 45° & 1| XEBELHE
ANEEE (V) ¢ 100 x 45° & 1| XEBELHE
VsTaqrk ¢ 100 & 1 | XEBELHE
RS —k RS —k W=150S m 317.0
TEIFHRET RUBA—&EY IS — LT F ¢ 150 H 1
$150(P) toH=E H=800 #H 1
HUFHRELT | RUA—HREYIL—ILIE#F ¢ 100 H 1
$100(P) toH=E H=800 #H 1
HKRBRET HARE ¢ 75 H 1
b75 15 H=200 H200 X ¢ 75 = 1
ANBISUOREBRTEE b 150(P)x ¢ 75(F] & 1
ITSUTEEM 075 {& 2
HNIRE H=800 #H 1
KB YRILIFERKIRGRYER) $ 150 x ¢ 20 & 7 a7 —%E
Eupkie BT 20 A !
$100% ¢20 |HIVP  L=4.00m 20 PN 3 [1.5mx 74
@@@%@@ HITJLA ¢ 20 & 14
h HiV vk ¢ 20 & 7
KBTI YRILIFERKIRGRYER) ¢ 150 x ¢ 25 & 3|37 —HE
FEILAKEE HLAHF ¢ 25 & 3 [1.5mx 34
$100% p25 [HIVP L=4.00m 25 P 2
®3C?1£)F HITJLA @25 & 6
HiV vk ¢ 25 & 3
KB YRILIFERKIRGRYER) ¢ 150 x ¢ 30 & 1|27 —{k%
HLAHHF ¢ 30 & 1 [1.5mx 14
Z'{é'{;?ﬁ% HiVP I‘_=4.00m $30 & 1
(D##Np) [HITLR $25 & 2
HiV vk ¢ 25 & 1
YRILIFERKIRGRYER) ¢ 150 x ¢ 30 & 1|27 —{kE
AHLAHF ¢ 30 & 1
HiVP  L=4.00m 30 P 9 [L=36m
YRR KE  [HVEYE 30 {& 8
?&%E%O Hiv Aok $30x 20 | {E i
L=42m HiF—X $30x 20 & 2
HiVP  L=4.00m 30 P 2 |L=2m x 344
HIZJLR 20 {& 6
Hiv4yhk ¢ 20 & 3
HiRgUIH $30 & 1
Bhlvryk 30 & 2
1E7K12BOXH &Y $100x H=600 | & 1
RS —k RS —k W=150S m 58.5




FHE

HRIRE 2% A& B HH=E w5 &
TEFHTHRR
BEKEMBTL RUIFLUERMRT 150 m 310.0
®150(P) RUIFLUEYMRT 150 O 3
RUIFLUERFI (RBEES) | ¢150 10#F | &R 57
RUTFLUERFI (RBEES) | ¢150 20#F | & 4
RUIFLUERFI (RIBEES) ¢75 1OMF | & 2
AA=HILBFEI(P) ¢ 150 O 5
AA=HIILBFI (V) ¢ 150 O 1
$100(P—V) RUIFLUERSBRT $ 100 m 0
E-—ILEMHRT $ 100 m 2.0
RYIFLUEYT ¢ 100 O 1
RUIFLUERFI (REES) | ¢100 10#F | &R 1
AN=HIILBFI(P) ¢ 100 O 1
AAZHIILBFI (V) ¢ 100 O 5
EHRR— BRRY—k m 317.0
TUHFZET TUHFZET ¢ 150 = 1
¢ 150(P) AHZHIBF T GRIER) ¢ 150 A 2
FEXRET H=800 #A 1
BENE " 1
TUHFZET TUHFZET ¢ 100 = 1
AHZHIBFITGRIER) $ 100 m] 2
FERET H=800 #A 1
»100(P) BERE " 1
HARBRETL HARBRETL 75 = 1
®75 ANZHILEFTI(P) ¢ 150 A 2
TSUTHFT b5 m] 1
FERET H=800 #A 1
BENE 1& 1
BB YRILRKREBREL RUER $150 % 20 1@ 7 (7
HRILSKEE MERLAAT ®20 O 7
d 150 % ¢ 20 E-—ILEMHRT @20 m 105
Q6EQOO® |TSHFT ®20 O 42
BB YRILRKREBREL RUER $150% 25 1@ 3 (3t
YRV KEE MERLAAT @25 O 3
d 150X ¢ 25 E-—ILEMHRT ¢ 25 m 45
P®® TSHET $50 O 18
BB YRILRKRBREL RUER $150% 30 1@ 1
YRV KEE MERLAAT ®30 O 1
® 150 % ¢ 30 E-—ILEMERT @30 m 15
Q&) Ith14E  |TSHFT ¢ 30 m 6
BB YRILRKRBREL RUER $150% 30 1@ 1 [L=36m
YRV KEE MERLAAT ®30 O 1
® 150 % ¢ 30 E-—ILEMERT @30 m 36.0
@EE 24 TS#HFTL ¢ 30 m 21
E-—ILEMHRT @20 m 6.0
TSHFET ®20 O 18
TUFHRET ®30 = 1
MENOBRERLAAES $30 A 2
RYIFLUEMET ®30 O 2
EHRI—k BRY—hk m 58.5
KR ER
KR KEH B 0.16
EKERER KA (DTEB th2#) A 0.02
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ERAR4 2 R B | Z9%=E B =
TR G iR IESRT)
BKEMmET YRILFFES KGR AER) $150 % ¢ 50 1@ 1|37 — k%
0 0) LKAV YR P) ®50 & 1|47t
¢ 50— ¢ 40 HPPE(E®) L=5.00m ¢ 50 V. 1 [L=3m(5%2m)
HiVP  [=4.00m ¢ 50 VN 1 [L=1m(5%3m)
HiVP  [=4.00m 40 VN 1 [L=1m(5&2m)
AHEBE (V) ¢ 40 x 45° & 2
vsS¥aq vk $50x% @40 & 1
BKEMET YRILFFES KGR AER) $150%x 50 1@ 1|37 — k%
FRERQ LKAV YR P) ®50 & 1
HPPE(E%E) L=5.00m ¢ 50 X 1
$ 50— ¢ 40 HIVP  L=4.00m ¢ 40 & 6 [24mfEX(FE 1 m)
HivV vk @ 50%x 40 {& 1
HiV4 vk ¢ 40 & 5
SKXV4 vk $40x ¢ 20 & 1
[E&RhE & 50 1 1
HiF vy ¢ 50 1 1
BKEMmET HPPE (EFZ MOt A2 E%) L=5.00m ¢ 50 F: 1 |5m#E%(5%0m)
FES HiVP  L=4.00m ¢ 40 X 1 |L=2m
¢ 50 PVZaA Tk ®50(P) x p40(V) 1A 1
AHEBE (V) ¢ 40 x 45° & 2
BKEMmET HPPE (EFZ MOt 2 E%) L=5.00m ¢ 50 F: 1 |5m#E%(5%0m)
HiE ARED [HPPE(EE) L=5.00m $50 PN 2 |(FE3miEm)
®50 EFESZAUR ¢ 50 % 45° 1@ 2
EFVybk ¢ 50 & 1
PVIaAf b ®50(P) x p40(V) 1A 1
AHEBE (V) ¢ 40 x 90° & 2
BKEMmET HPPE (EFZ MOt 2 E%) L=5.00m @ 150 F: 1 |5m#E%(5%0m)
G HiVP  L=4.00m & 150 = 1 l2m7rez
¢ 150 FHEIRHE (P—V)ZE i $ 150 x 45° & 1
AHEBE (V) ¢ 150 X 45° 1@ 1
vS¥aq vk ¢ 150 & 1
R —k AR —hk W=150S m 71.0
TUHHZRET HRELUF @50 = 2
®50(P) BRLAHYTIRP) @50 1@ 4 |4oa7
TUIH=E H=600 #H 2
TUIH=E H=800 #H 2
TUHHZRET HRELUF @50 = 2
»50(P—V) BRLAHYTIRP) @50 1@ 2 |47t
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TUIH=E H=800 #H 2
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HiV4 vk ¢ 20 & 4
R —k AR —hk W=150S m 6.0




FHE

HRIRE 2% A& B HH=E w5 &
TR fth (S 4R 5T
ERKEMBT YRILRKRBREL RUER ¢ 150 X ¢ 50 1@ 1
FRO MERLAAT ¢ 50 A 1
RYIFLUEMET ®50 O 1
d50P— 40V |RUIFLUEMRT @50 m 30
RUIFLUEYMT @50 O 1
E-—ILEMRT ¢ 40 m 2.0
AA=HIILBFI (V) ®50 O 1
AA=HIILBFI (V) @40 O 5
ERKEMBT YRILRKRBREL RUER @ 150 X ¢ 50 1@ 1
FRQ HERCAHT ®50 O 1
G50P—>p40V [RYTFLUEMHZL ¢ 50 m 5.0
E-—ILERMRT @40 m 27.0
TSHFET ®40 O 12
RYIFLUEMET @40 O 2
RYIFLUEMET ®20 O 1
TSHFET ®50 O 1
ERKEMBT RUIFLUERMRT @50 m 5.0
FRQ E-—ILERHKT ®50 m 2.0
¢ 50 RUIFLUEYRT ¢ 50 A 1
RUIFLUERFI (RIEES) $50 1O#F | &FT 1
AA=HIILBFEI(P) ®50 O 1
AA=HILBFI (V) @40 O 5
ERKEMBT RUIFLUERMRT @50 m 18.0
TiE ARBD [E-——LERHKT @50 m 2.0
¢ 50 RUIFLUEYRT ¢ 50 A 3
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SKXTJL7R(PP x VD) ZE 2 $20 18 1
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Hiv4 ok @25 18 2
BHRY—b BRI —bk W=150S m 19.0 [5m X 244+6m X 144+3m X 144
FHE
BRERB &R bS] B4 | B98E 5 &
Fna4sHR (¢ 50)
RUIFLUERRT @50 m 62.0
6 50(P) RUTFLUEYRT @50 m] 1
E=—ILEHHRT @50 m 1.0
AA=HILBFI(P) ¢ 50 a 3
RUIFLUERF I REES) $50 1O#F | &fr 11
AA=AIILBFI(V) ¢ 50 a 4
RS ESE @50 E31 2
HHRR—H e m 63.0
HURRELT |(HUIHFRET @50 ® 1
$50(P) HENORERCAAES ®50 o 2
RYUIFLUERFET ®50 m] 2
RERET H=600 Ei:| 1
BHERE ® 1
kOB HRILKERERET RUEHR $50x ¢20 & 3 |37 — K%
NOFMHERLAAT $20 m] 3
E-—LE&EHMBRT 20 m 11.0 |14 X 1.5m
RUIFLUERRT ®20 m 25
Z;(; i%’ff INOEEEHHT $20 m 20
N=3{4 RUIFLUEHRFT $20 =] 5
INOEREE YT ®20 o 1
RYUIFLUERFET ®20 m] 5
TSHFT ®20 o 18
kOB HRILHSKEREL RIER $50% ¢ 25 & 1|37 — %%
HRILS KR fHERLAAT 25 m] 1
$50% ¢ 25 E=—ILEHHRT 25 m 6.0 [144 X 15m
N=14F TSHFT $25 o 6
RS —b BRI —k W=150S m 19.0
EKEER
JEKERER EKEHERT HKERE A 0.03 |H=L/2000




T I HE X
£ i = % i
il TP R
BKERH H=800 060 m X 1040 m X 3100 m = 19344 m3
HHKIET H=800 060 m X 0985 m X 70 m = 414 m3
= 197.58 200
H=800 060 m x 0380 m X 3100 m = 7068 m3
HWHIERLI(CSR) H=800 060 m X 0325 m X 70 m = 137 m3
72.05 70
H=800 060 m X 0490 m X 3100 m = 9114 m3
HERLI(R4EL) | H=800 060 m X 0490 m X 70 m = 206 m3
9320 m3 2
BHEIMET 19758 m3 - 91.14 m3 / 0.90 = 9402 m3 90
TREERET t=10cm | RC-30 060 m X 3170 m = 190.20 m?2 190
LRERET t=7cm M-30 060 m X 3170 m = 190.20 m?2 190
{RASEHET t=3cm FRHL 060 m X 3170 m + 165 m = 200.10 m2 200
FREIBASHET W) | t=4cm L 130 m X 3170 m + 165 m = 43355 m2 433
AsTHEERR T T t=4cm 31700 m + 1650 m X 300 & = 10005 m 1000
AsTHEMRIEF T(E8)| t=5cm LRHE = 43355 m2 433
RASTHEERRRE T t=3cm 060 m X 3170 m + 166 B = 200.14 m2 200
AsTRERER- NN T Ax0.04 + B x0.03 = 2335 m3 23
keI T H=800 | KFE®D 060 m X 0985 m X 165 m = 975 m3
1244 HHKET H=600 | KFE® 060 m X 0638 m X 420 m = 1608 m3
&% = 25.83 30
H=800 | BFED 060 m X 0380 m X 165 m = 376 m3
HWHIERLI(CSR) H=600 | KFE® 060 m X 0238 m X 420 m = 600 m3
9.76 10
H=800 | BFED 060 m x 0250 m X 165 m = 248 m3
BRI (G +) H=600 | KFE® 060 m X 0300 m X 100 m = 1.80 m3
H=600 | KFE® 060 m X 0500 m X 320 m = 960 m3
1388 m3 10
BEIMET 2583 m3 - 1388 m3 / 0.90 = 1041 m3 10
TR T(EE) t=10cm | RC-40 060 m X 165 m = 990 m2 10
LB T (EE) t=7cm M-30 060 m X 165 m = 990 m2 10
TREREEIGEAD) t+=10m | RC-30 060 m X 100 m = 600 m2 6
avy)— g t=10m Co 060 m X 100 m = 600 m2 6
Ay —MEE YR 1000 m X 20 & = 2000 m2 20
SHERRERIRL B 2.5km 060 m X 100 m = 600 m2 6
avy)—rus i 600 m X 01 m = 060 m3 0.6
X AR IR
BKERH H=800 | MF@E®D 060 m X 1040 m X 70 m = 437 m3
MREET H=600 | KFE® 060 m x 0723 m X 320 m = 13.88 m3
H=600 | MFE® 060 m X 0723 m X 320 m = 13.88 m3
&% = 32.13 30
H=800 | BRED 060 m X 0380 m X 70 m = 160 m3
ERERLT(S5R) H=600 | MFE®Q 060 m X 0260 m X 320 m = 499 m3
H=600 | KFE® 060 m x 0238 m X 320 m = 457 m3
11.16 10
H=800 | BFED 060 m x 0490 m X 70 m = 206 m3
HWMIERLI(REL) | H=800 | KFE@ 060 m X 0290 m X 640 m = 1114 m3
1319 m3 10
BREIMET 3213 m3 - 206 m3 / 0.90 = 1747 m3 20
TREERET t=10cm | RC-30 060 m X 710 m = 4260 m2 42
LRERET t=7cm M-30 060 m X 710 m = 4260 m2 42
{RASEHET t=3cm AR 060 m X 710 m + 6.0 = 46.20 m2 46
FREIBASHET(AA)| t=4cm L 080 m X 710 m + 60 m = 61.60 m2 61
AsTHEMR M T t=4cm 7100 m + 600 m X 400 & = 2310 m 231
AsTHEERRIRR T t=5cm LRHE = 61.60 m2 61
{RASTHEERRBEFE T t=3cm LRHE = 4620 m2 46
AsTRERER- NN T Ax0.04 + B x0.03 = 385 m3 3
ﬁ*mglmmﬁﬁl H=600 | KFE® 060 m X 0723 m X 60 m = 260 m3
% = 2.60 3
BREELT(C5R) 060 m X 0238 m X 60 m = 086 m3
0.86 1
WREEL () H:BOOAL MED 060 m X 0290 m X 60 m = 104 m3
&t 104 m3 1
TR T(EE) t=10cm | RC-40 060 m X 60 m = 360 m2 4
LB T (EE) t=7cm M-30 060 m X 60 m = 360 m2 4
FrasH
BKEMRT H=600 | MFED 060 m X 0723 m X 40 m = 1.74 m3
R T H=600 | KFIEQ 060 m X 0663 m X 310 m = 1233 m3
H=600 | MFE® 060 m X 0653 m X 280 m = 1097 m3
& A 250 m3 30
WREELTEAL) H=soob|i EED 060 m x 0263 m X 630 m = 994 m3
aat 99 m3 10
H=600 |KFEDQ 060 m X 0290 m X 320 m 557 m3
WHIERLI(REL)| H=600 | HE® 060 m X 0300 m X 310 m 558 m3
ait B 11.1 m3 10
BT A-B/0.9 = 12.65 m3 10
TERET t=10cm | RC-30 060 m X 630 m = 37.80 m2 38
LERET t=8cm M-30 060 m X 40 m = 240 m2 2
KB |#MRET H=800 | EFED 060 m X 0663 m X 190 m = 756 m3 8
HWHERLIGAZFYY) | H=800 | MFED 060 m X 0263 m X 190 m 300 m3 3
HERLT(R4EL) | H=800 | KWE®D 060 m X 0290 m X 190 m = 331 m3 3
BruET 7.56 - 3.31 /0.9 = 388 m3 4
TREERET t=150m | RC-30 060 m x 190 m = 1140 m2 il




$150 HPPE fid K & 41 & %
UEE (m)
%4 (m) I T
=) forcs Vol =
OB M g RO ERE 2 g . =
5}
z.-1 Z.-2 Z.-3 Z.—4 Z.-5 OD—@ (A)
HPPE 150 5. 000 5. 000 5. 000 B 57 R
HPPE 150 5. 000 5. 000 5. 000 I
HPPE 150 5. 000 5. 000 5. 000 "
HPPE 150 5. 000 5. 000 5. 000 I
HPPE 150 5. 000 3. 000 1. 000 1. 000 5. 000 2 "
HPPE 150 5. 000 2. 000 3. 000 5. 000 1 I
i 30. 000 25. 000 4. 000 1. 000 30. 000 3
30. 000 25. 000 4. 000 1. 000 30. 000 3. 000




g B 3k

) ¢ 100 HPPE Bl &K 4
UEE (m)
s 1k
B mm RO ERE S BE (m) ST T o
-1 Z.-2 Z.-3 Z.—4 Z.-5 OD—@ (A)
HPPE 100 5. 000 2. 000 3. 000 5. 000 1| TFooddefi (E.P)
i 5. 000 2. 000 3. 000 5. 000 1
5. 000 2. 000 3. 000 5. 000 1. 000



)¢50 HPPE Bl Kk & 8 & #

UEE (m) \
5 OE M E RO ERE S | UL W=
-1 2.2 Z.-3 Zi—4 -5 ) (O5=) ()
HPPE 50 5. 000 3. 000 2. 000 5. 000 1 TETRHREG
HPPE 50 5. 000 5. 000 5. 000 B ARFR@
g 10. 000 8. 000 2. 000 10. 000 1

10. 000 8. 000 2.000 10. 000 1. 000




Z.9] $ 50 HPPE Fd /K & B R
UEE
%4 (m) Gl T
=] forcs z P
OB M 7O ERE zu . =
5}
z.-1 Z.-2 Z.-3 O-—©® (A)
HPPE 5. 000 5. 000 5. 000 B T4 5
HPPE 5. 000 2. 000 3. 000 5. 000 1 | ¥maEf ARKRO
HPPE 5. 000 1. 500 1. 500 1. 000 5. 000 3 HEARR@
HPPE 5. 000 5. 000 5. 000 B ARR@
HPPE 5. 000 3. 000 3. 000 2. 000 1 HERARO
HPPE 5. 000 5. 000 5. 000 TE RO
30. 000 21.500 4. 500 1. 000 28. 000 2. 000 5
30. 000 21.500 4. 500 1. 000 28. 000 2. 000 5. 000




24 ¢ 50 HiVP Bl K & ) & &

UEE (m)
%4 (m) Gl T
=] forcs Vo ==
AR g RO ERE zu . =
5}

z.-1 Z.-2 Z.-3 Z.—4 -5 OD—@ (A)
HiVP 50 4. 000 1. 000 1. 000 2. 000 2. 000 2 B T4 5
HiVP 50 4,000 3. 000 3. 000 1. 000 1 N NOO)

i 8. 000 4. 000 1. 000 5. 000 3. 000 3

8. 000 4.000 1. 000 5. 000 3. 000 3. 000




24 40 HPPE Bl K & ) & &

DER  (m) .
oW F R |0 ERE S P (m) UL W
-1 2.2 Z.-3 Zi—4 -5 ) (O5=) ()
HivpP 40 4.000 0. 500 0. 500 1. 000 1. 000 3. 000 1. 000 4 FRIOTRRO
HiVP 40 4. 000 0. 500 0. 500 1.000 1.000 1.000 4. 000 4 FHOG
HivpP 40 4.000 1. 000 1. 000 2. 000 2. 000 2 HEARB@
HiVP 40 4. 000 4. 000 4.000 DiN10)
HiVP 40 4. 000 4. 000 4. 000 DiN10)
HiVP 40 4. 000 4. 000 4.000 DiN 10
HiVP 40 4. 000 4. 000 4. 000 DiN10)
HiVP 40 4. 000 4. 000 4.000 DiN 10
HiVP 40 4. 000 4. 000 4. 000 DiN10)
G 36. 000 26. 000 2. 000 2. 000 2. 000 1. 000 33.000 3. 000 10

36. 000 26. 000 2.000 2. 000 2.000 1. 000 33.000 3. 000 10. 000




